6H 1T=F%E

- AT IS
B|m|[e | |[m|1m|or|om|um|om|er| SHTERE
)
ol gloluslas| 1| 2| 3| 4| 5 |e2|snes
3| wl|o P12 1314 1°] 6 |eamrs=r
55 | 87 | @7 | 5 | 55
4 2K @) 4FE | 45 1 2 3 4 X133 00" KRFE
5 VN O 1 2 3 4 5 6 |FREE (TR
6 & O 1 2 3 4 5 6
7| x
s | B |Mamesmrecs @
olnmsl|o 1l2]3|la|s]e
10 W @) 1 2 3 4 5 6 |1 FRFHERZ 8:30
1l x| o 1l2]3|la]s
- | BEE (61
12 ZN @) EES 1 2 3 4 5 |[#ms %Bfﬁ%gg
13 & @) 45 1 2 3 4 5 6 | EFETE
14 |t |mEmResgEEARO\UE SR o2 - 208 - BE KK
15 | B |nEmrestEEARN\YE - SR T2 - 2058 - 28
16 =] @) 1 2 3 4 5 6
17 W @) 1 2 3 4 5 6
18| x| o 1l2]|3]4als BRrEEE PTARS)
19 ZN O 1 2 3 4 5 6 |284—-TYF1rPO0-2 (3R #HEHR—IL)
REE (R
20| & | O T 28] 4|5 6 [Zxrumesmr (~258)
" NEBXPERABAZ L — NN —XTED
o1 |+ | x |zmlas]| 1| 2 TREFINEES DAEHREYS— 900
22 B |NEMXPERABTAS(NU— -« /\R)XTF-XFEE
A
23 | B |Frastrsn
NULHHOERERED8 « CEDOHERFENDE
o4 | w | o as| 1| 2| 3| 4a]|s]| 6 |tearas
B | &5 | 15
o5 | % | O &5 |5 85| 4 | 5 1 SEERT 2~ (1~3BF2 ~BE)
5 | 87 | @7
85 |55 ]
- Z127 3 g |1 =0T . 2RF 2 B3
oo | x| o | us= —ZTas 4| 5 [BE|1smErTRr L 2mTR B
B5 | &7 | By
o7l e | o as| 1| 23] 4a]|s5]| 6 |szas-u-s5-2
o8 | +
20 | B
0| 8|0 11l2]lslalsl|e
BEEH 218 TRDFEBSFE
18N BblE= 280K TP EREBRER=S(IFSH)., BRAJUIVT—Y3Y 38 (R) EF = 58(1)~208(8) EbERIAEBTAS

148 (R #RAETHREB

17BN 1 FHERERZE 18B(@ KA. DR

228N, 238K BABME

198 (1) F23208(B) RREXIV D —)L




